F3-881

Joints for Factory Frames

Part Number [MMaterial
FFB1, FFB2 ADC12
FFB3~FFB5 ADC12 Equivalent

Reference Tightening Torque: 6.8N/m

(®)The shape of FFB3 ~ FFB5 may be partially altered for product improvements.

FFB2
408 _ 388 _ s
[N A@L,,o]
[ ===

38.8 51.5 388 Mo

)
3
70 B gfz{ = ) 8] 1
g = 7}
o H H 255
Part Number Mass Included Screw and Nut oo
Type No. (9) Size Quantity i D
1 88 2
2 168 M5-18
3 172 4
FFB 4 92 M5-15
M5-20 2
5 145 M5-25 1
M5 Nut

-
s
Part Number | @MMaterial
FFB11~FFB15 [ ADC12
Reference Tightening Torque: 6.8N/m
FFB11 FFB14
25
25
s EL,, 30
457 & 255
9]
25 K
62.75 [23]
v &

£ Part Number | MMaterial
= FFB6~-FFB10 JADC12 Equivalent
R Reference Tightening Torque: 6.8N/m
h (®The shape may be partially altered for product improvements.
FFB6 FFB7 FFB8 FFB9 FFB10
M5 6.5 i ‘30 75 30.7&", } = 81 82 FS_?: 3875, M5
IR T3 |4 e 2 [T ISt=r
257 i W 79 \ 5 :
M5 ] M
‘5 378 o 20 ﬁ’ TT - ﬁ’ 25| 30 Qgem% %\( ﬁ |
o NRE | = % — AT 1] L=
a]gI - % s E{ j’;{ ‘ 81%]2 S U 2lg
o ' I | &Y R 5= ©|
= 40 ] 25
BN sz 5‘\‘ 2 % - 217“ i’w 8 | ¥ —i
30812 &2 -6 ]
s
o
L 4/ X
3 ,‘J» @
s o A
o l J /<
= i
- S s/
I i
Part Number Mass (g) Included Screw and Nut Unit Price @ - (SET)
Type No. Size Quantity Alterations’ FFB9 - SET
6 35 M5-12 1
7 80 2
FFB 8 84 o 1 Alteration Code Spec.
9 110 .
2 Include 4 set screws (M4-6) with FFB9 as a set.
10 145 Set Srew SET ®Applicable o FFBI only.

Part Number Mass Included Screw and Nut .
Type No. (9) Size Quantity Unit Price
11 250 M5-18 1
M5-20
' 8 M5 Nut
M5-20
FFB | 8 WI5 Nut 2
14 35 M5 Set Screw 1
M5-18 3
15 140 835 :
1 Ordering |Part Number
Example FFB1
ex Example

Skid Cover, HSCY5 FFB3

FFBI3
i FFB14

F1-882



